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*Eﬁ;l;iig TRFOBBOSILIOKRES TRFOHBESSLADKES TERFOBBOSILIOKRES TREFOHBESSENDOKRES
&S R 4 2% | TimH DR jmj:afé R 4 THwMASDKE | 5 ﬁwkéfé B 4 2% | LiEHSOHE ﬁwxéfé & 4 LImALDLE | & | AOKRES
(m) (m) (kN/mm) Bt (m) (m) (kN/ ) (m) (m) (kN/r) (m) (m) (kN/rm)
; 100kN/ Mm% % % ~ 3m%EHBZD — ~ 100kN/m%#8 %% ~ ImEHBRD ~
Fhst 1.00 | 000 ~ 4.44 58.35 | #hst | 000 ~ 444 | 1.94 10.40 Fhst 1.00 | 6.00 ~ 5.00 55.35 | Fhust | 500 ~ 500 | 1.94 10.40
2 100kN/ %25 ~ 3m%EHBZD —~ o~ 100kN/ m%#8 %% ~ 3ImEFHBRD ~
Thst 1.00 | 000 ~ 4.04 50.65 | #hst | 000 ~ 4.04| 206 11.04 Fhst 1.00 | .00 ~ 5.00 50.65 | Fhust | 500 ~ 500 | 2.06 11.04
3 100kN/M%# 2% — ==~ . —|3mEBZB| — ~ = == — | 100kN/mM#%#% % — =5~ — —|3m%EBZ D -~ — — —
Thst 1.00 | 000 ~ 423 52.92 | #hdst | 000 ~ 423|201 10.75 Fhist 1.00 | .00 ~ 5.00 52.92 | #hust | 500 ~ 500|201 10.75
100kN/M%# 2% ~ 3m%EHBZD ~ 100kN/ m%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ Mm% 8% % ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ %25 ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ M %# 2% ~ 3m%EHBZD ~ 100kN/ m%#8 %% ~ 3mEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/M%# 2% ~ 3m%EHBZD ~ 100kN/ m%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ Mm% % % ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ %25 ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ M%# 2% ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ M %# 2% ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ Mm% % % ~ 3m%EHBZD ~ 100kN/mM%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ %25 ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhilst ~ Fhilst ~ Fhist ~ Fhilst ~
100kN/ %25 ~ 3m%EHBZD ~ 100kN/m%#8 %% ~ 3ImEFHBRD ~
Fhist ~ zhst ~ Fhs ~ Fhist ~




